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Part A

Answer any ten questions.
Each question carries 2 marks.

. What is the difference between database schema and database instance ?

. What is logical data independence ?
. Define the term ‘Data dictionary’.
. Distinguish between strong and weak entity sets.
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5. Define a view. |
6. Explain the syntax of ALTER TABLE command.

7. Explain about natural join operation.

8. What is the impact of PRIMARY KEY constraint ?
9. List various aggregate functions in SQL.
10. Why we need transaction management in DBMS ?
1l. Define functional dependency.

12. Define super key.
(10 x 2 = 20 marks)

Part B

" Answer any six questions.
Each question carries 5 marks.

|
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w

Discuss the ER model for a university database system. -
Consider the following table stock : stock (ItemNo, Item, Dcode, Qty, UnitPrice, StockDate)

>

Write SQL statements for the following queries :—

(a) To create the table. :
(b) To display details of all items in the stock table in ascending order of StockDate.
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- Write a note on facilities in SQL to grant and revoke

Discuss various functions of database users and administrators.
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(¢) Todisplay ItemNo and name of those items from stock table whose UnitPrice is more thap

rupees 100.

(d) To display the details of those items whos
(Qty) is more than 100 from the table stock.

(e) To display maximum UnitPrice of items for each dealer indivi
table stock.

e dealer code ( Dcode) is 102 or Quantity in stock

dually as per Dcode from the

Explain the desired properties of transaction.
privileges to users.
Explain the three schema architecture of DBMS.
Consider the following relational database :
Employee (employee name, street, city) "
works (employee name, company name, salary)
company (company-name, city)

manager (employee-name, manager-name)

‘Give an SQL DDL definition of this database. Identify referential mtegnty constraints that should

hold and include them in the DDL definition.

'Explain the different type of attributes occurs in ER model.

Explain the use of EXISTS and UNIQUE functions in SQL with example

(6 x 5 = 30 marks)
Part C

Answer any two questions.
Each question carries 15 marks.

Discuss about the database system environment.
Explain types of single-level ordered indexes.
What is normalization ? Discuss 1 NF, 2 NF, 3 NF and BCNF with example

Write notes on :
(a) Need of concurrency control in transaction.

(b) Need of transaction recovery. —

(2 x 15 = 30 marks)
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